


1.Ms Reema has 18 students in
her class. She splits them into 6
equal groups. How many students
does she have in each group?
Which operation should be used 
to solve the problem?

a. addition               b. division
c. multiplication     d.  subtraction



2. Find the missing number.
27 ÷ __  = 9

a.   9
b.   3 
c. 27
d. 1



3. James had a birthday party. He 
had 30 candy pieces to share 
with himself and four friends.
How many pieces of candy 
would each person get?

Which of the following could be used to 
solve the problem?
a. thirty times 6             c. thirty divided by 5
b. thirty plus 4               d. thirty divided by 4



4. What is the multiplication fact 
that helps you solve the problem?
63 divided by 9

a. 6 x 9
b. 9 x 5
c. 9 x 7
d. 6 x 7



5. Which has the greatest value ?
72 ÷ 8  or 72 ÷ 9

a. 72 ÷ 8
b. both the values are equal
c.  72 ÷ 9



6. What is the remainder of 
13 ÷ 6 = 2
quotient = 2 , reminder = ____

a. 6
b. 2
c. 1
d. 0



7. Which story will be solved with 64 ÷ 8 ?
a. Tim used 8 nails out of 64 nails. How 

many nails were left?
b. Tim bought 8 bags. Each bag had 64

nails. How many nails did he have?
c. Tim had 64 nails . If he buy 8 more.

How many  nails will he have in all? 
d. Tim has 64 nails and 8 bags. How many 

nails can each bag hold?



8. Find the fraction for the given
picture.

a. 2/3
b. 1/3
c.  3/3
d. 1/4 



ANSWER KEY

1. Division
2. 3
3. Thirty divided by 5
4. 9 x 7
5. 72 ÷ 8
6. 1
7. Tim has 64 nails and 8 bags. How many nails can 

each bag hold?
8. 1/3



Thank you
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